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NEW QUESTION 1
Which three are true about Database Point-in-Time Recovery? (Choose three.)

A. The database must have FLASHBACK DATABASE ON to perform Database Point-in-Time Recovery.
B. Thedatabase must be in MOUNT state when performing Database Point-in-Time Recovery.

C. Database Point-in-Time Recovery is performed by the Managed Recovery Process (MRP)

D. The Database must be in ARCHIVELOG mode.

E. The target point for the recovery must bespecified as a stime or System Change Number (SCN).

F. The database must be open RESETLOGS after Database Point-in-Time Recovery.

Answer: BDF

Explanation:
https://docs.oracle.com/cd/B19306_01/backup.102/b14192/flashptr006.htm#:~:text=Database%20point%2Din%

NEW QUESTION 2

Examine these actions:

* 1. Create a new database for a recovery catalog.

* 2. Create a tablespace with sufficient space in the catalog database for the recovery catalog.

* 3.Configure ARCHIVELOG mode for the catalog database.

* 4, Create a user to own the recovery catalog schema with quota on the tablespace that will containthe catalog.
* 5. Grant the RECOVERY_CATALOG_OWNER role to the recovery catalog schema owner.

* 6.Grant the SYSBACKUP privilege to the recovery catalog schema owner.

Which are the minimum actions that must be performed before executing the CREATECATALOG command?
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Answer: D

NEW QUESTION 3
Which three are true about backup, restore, and recovery operations done without using Recovery Manager (RMAN)? (Choose three.)

A. Backing up a database in NOARCHIVELOG mode using O/S utilities requires that the database instance bestarted and the dataabse be in the MOUNT state.
B. Backing up a database in ARCHIVELOG mode using O/S utilities requires that the database instance be started and the database be in MOUNT state.

C. An Oracle database can be restored from backup files copied using O/S utilities.

D. Oracle data file backups, copied using an O/S utility, can be added to the RMAN catalog as IMAGE COPIES.

E. Backing up a database in NOARCHIVELOG mode using O/S utilities requires that the database instance be shut down.

F. Oraclearchive log backups, copied using an O/S utility, can be added to the RMAN catalog as a backup set.

G. Backing up a database in ARCHIVELOG mode using O/S utilities requires that the database instance be started and the database be in OPEN state.

Answer: BDE

NEW QUESTION 4
Which three are true about Optimizer Statistics Advisor? (Choose three.)

A. It can berun only manually.

B. It is part of the DBMS_ADVISOR package.

C. It can recommend changes to improve the statistics gathering process.
D. It always analyzes all schemas in the database.

E. It runs automatically every night by default.

F. It is part of theDBMS_STATS package.

Answer: ACF

Explanation:
https://mikedietrichde.com/2017/08/22/oracle-optimizer-statistics-advisor-in-oracle-database-12-2-0-1/ https://www.oracle.com/technetwork/database/bi-
datawarehousing/twp-bp-for-stats-gather-19¢-5324205.pdf

NEW QUESTION 5
Which three can be done using Oracle Database Configuration Assistant (DBCA) starting from Oracle Database 19¢? (Choose three.)

A. cloning a remote container database in interactive mode

B. cloning a remote pluggable database in silent mode

C. relocating a remote pluggable database in interactive mode
D. relocating a remote container database in silent mode

E. cloning a remote container database in silent mode

F. relocating a remote pluggable database in silent mode

G. relocating aremote container database in interactive mode

Answer: BEF

NEW QUESTION 6
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Examine this configuration:

> CDBlis an Oracle Database 12c¢ Release 2 database containing pluggable databasesPDB$SEED,PDB1, andPDB2.
> PDBS$SEEDis openREAD ONLY

> PDBL1lis openREAD WRITE

> PDB2isMOUNTED.

> ORACLE_HOMEis/uO1/app/oracle/product/18.1.0/dbhome_1.
You execute these commands before upgrading the database to the current release:

5 . oraenv
ORACLE SID = [cdbl] 7 cdbl
The Oracle base remains unchanged with wvalue /ul0l/app/oracle

$ SORACLE HOME/jdk/bin/jawva -jar preupgrade.jar TERMINAL TEXT
For which databases will fixup scripts be created?

A. CDB1, PDB$SEED, PDB1, and PDB2
B. PDB$SEED, PDB1, and PDB2 only
C. CDB1 and PDB$SEED only

D. CDB1, PDB1,and PDB2 only

E. CDB1, PDB$SEED, and PDBL1 only

Answer: E

NEW QUESTION 7
A user complains about poor database performance.
You want to verify if the user’s session has waited for certain types of 1/0 activity. Which view displays all waits waited on by a session at least once?

A. V$SESSION_EVENT

B. V$SESSTAT

C. V$SESSION_WAIT

D. VSSESSION_WAIT_CLASS
E. V$SESSION

Answer: A

NEW QUESTION 8
Which three are true about managing memory components in an Oracle database instance? (Choose three.)

A. With Automatic Shared Memory Management, the database instance can increase the Large Pool size byreducing the Shared Pool size.

B. With Automatic Memory Management, the database instance can increase the System Global Area size by reducing the Program Global Area size.

C. Automatically tuned and resized System Global Area components will always revertto their initial sizes after an instance restart.

D. Automatic Memory Management must be used together with locking the System Global Area into physical memory.

E. With Automatic Shared Memory Management, the database instance can increase the Program Global Area size by reducing the System Global Area size.
F. On Line Transaction Processing systems often use less Program Global Area than Decision Support Systems.

Answer: AEF

NEW QUESTION 9
Which three are true about an application container?

A. It must have an application root PDB.

B. It can contain multiple applications.

C. An application PDB can belong to multiple application containers.
D. Two application containers can share an application seed PDB.
E. It can contain a single application.

F. It must have an application seed PDB.

Answer: BDE

NEW QUESTION 10
Which two are true about Oracle Database Configuration Assistant (DBCA) templates? (Choose two.)

A. The General Purpose of Transaction Processing templates are most suitable when concurrency and recoverability are key criteria.
B. Oracle DBCA templates can store only logical structure and not database files.

C. New templates can only be created by modifying an existing user-created template.

D. The Data Warehouse template is most suitable when transaction response time is the key criterion.

E. Oracle DBCAtemplates can be used to create new databases and duplicate existing databases.

Answer: AE
NEW QUESTION 10
Which two are true about Rapid Home Provisioning (RHP), which has been available since Orcale 18c? (Choose two.)

A. It is an Oracle Database service
B. It cannot be usedto upgrade Oracle Database homes.
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C. It can be used to provision applications.
D. It can be used to patch Grid Infrastructure homes containing Oracle Restart.
E. It can be used to provision middleware.

Answer: DE

NEW QUESTION 11
Which three are true about RMAN persistent configuration settings, administration, and their effects? (Choose three.)

A. A target database’s persistent RMAN configuration settings are always stored in the target’s control file

B. Backup older than the recovery window retention policy are always deleted automatically if the backup location has insufficient space.

C. Backups written to the fast recovery area (FRA) that are oboslete based on the redundancy retention policy can be deleted automatically to free space.
D. The RMAN SHOW ALL command displays only settings with nondefault values.

E. A target database’s persistent RMAN configuration settings are always synchronized automatically with the RMAN catalog.

F. The VSRMAN_CONFIGURATION view displays only settings with values that have been modified.

G. A DBA must specify either a redundancy retention policy or a recovery window retention policy.

Answer: ABF

NEW QUESTION 14
Which three actions are performed by Database Upgrade Assistant (DBUA)? (Choose three.)

A. It recompiles all stored PL/SQL code by using utlrp.sql.

B. It empties the RECYCLE BIN.

C. It performs prerequisite checks to verify if the Oracle database is ready for upgrade.
D. It sets all user tablespaces to “read-only” before starting theupgrade.

E. It removes the AUDSYS schema and the AUDIT_ADMIN and AUDIT_VIEWER roles
F. It increases tablespace size, if required, to meet upgrade requirements.

Answer: ACF

NEW QUESTION 19
Which two are true about creating pluggable databases (PDBs) using snapshots in Oracle 19c and later releases? (Choose two.)

A. A PDB snapshot is always a full copy of the source PDB.

B. A PDB snapshot is always a sparse copy of the source PDB.

C. A snapshot copy PDB depends on a storage snapshot which can only be stored on specific file systems.
D. A PDB snapshot depends on a storage snapshot which can be stored on any file system.

E. A PDB snapshot depends on a storage snapshot which can only be stored on specific file systems.

F. A snapshot copy PDB depends on a storage snapshot which can be stored on any file system.

G. A snapshot copy PDB can be created from a stand-alone clone PDB.

Answer: AE

NEW QUESTION 23

Examine this command:

$ rhpctl move database —sourcehome Oracle_home_path —destinationhome Oracle_home_path For which two purposes can you use this command? (Choose
two.)

A. to switch an existing Oracle Database home to anewer release of Oracle software on the same server
B. to switch to a read-only Oracle home

C. to switch back to the previous Oracle home as part of a rollback operation

D. to switch the Oracle Database home when using a centralized Rapid Home Provisioningserver

E. to switch to a patched Oracle Database home

Answer: CE

Explanation:

You can use rhpctl move gihome command with the same syntax to switch from the current Oracle Grid Infrastructure home to a patched home. The rhpctl
command enables you to switch from your current Oracle Grid Infrastructure or Oracle Database home to patched Oracle home so that you can provision the new
Oracle home as gold image. You can also use the rhpctl command to switch back to the old Oracle home, if you want to roll back the operation.

NEW QUESTION 26
Which three are true about thresholds, metrics, and server-generated alerts? (Choose three.)

A. All metrics are instance related.

B. Cleared statefulalerts are displayed by querying DBA_ALERT_HISTORY.

C. A space usage management alert is automatically cleared after the underlying problem is resolved.
D. They are generated by SMON when a tablespace is 97% full.

E. Metrics are statistical counts for aspecific unit.

F. STATISTICS_LEVEL must be set to ALL to generate alerts.

Answer: BCE

NEW QUESTION 28
Which two are true about RMAN encryption? (Choose two.)
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A. RMAN encryption keys are stored in a database keystore.

B. RMAN can encrypt the Oracle Database password file.

C. Dual-mode encrypted backups can be restored only if boththe password and the keystore used for encryption are available.
D. The SET ENCRYPTION command overrides encryption settings specified by the CONFIGURE ENCRYPTION command.
E. Password encryption can be persistently configured using the CONFIGUREENCRYPTION command.

Answer: CD

NEW QUESTION 33
Which two are true about RMAN duplexed backup sets? (Choose two.)

A. A duplexed backup set uses the same number of SBT channels as a non-duplexed backup set for the same number of files.
B. A non-duplexed backup set written to disk can be duplexed to disk bybacking up the backup set that is already on disk.

C. A non-duplexed backup set written to SBT can be duplexed to tape by backing up the backup set that is already on tape.

D. A non-duplexed backup set written to disk can be duplexed to tape by backing upthe backup set that is already on disk.

E. A non-duplexed backup set written to SBT can be duplexed to disk by backing up the backup set that is already on tape.

F. A duplexed backup set always uses twice as many SBT channels as a non-duplexedbackup set for the same number of files.

Answer: DF

NEW QUESTION 37
Which two are true about instance recovery? (Choose two.)

A. Itis not possible if an archived log is missing.

B. It is performed automatically after the database is opened; however, blocks requiring recovery are not available until they are recovered.

C. Setting FAST_START_MTTR_TARGET to a lower value reduces instance recovery time by causing dirty buffers to be written to disk more frequently, thereby
reducing the number of 1/0Os needed during instance recovery.

D. It is performed by the Recovery Writer (RVWR) background process.

E. Setting FAST_START_MTTR_TARGET to a higher value reduces instance recovery time bycausing the log writer to write more frquently, thereby reducing the
number of 1/Os needed during instance recovery.

F. It is performed automatically while the database remains in MOUNT stat

G. Then the database is opened.

Answer: EF

NEW QUESTION 38

Examine thisconfiguration:

* 1. CDB1 is a container database running in archivelog mode.

* 2. Multiple uncommitted transactions are running in CDBL1.

* 3. Redo log groups 1 and 2 are inactive.

* 4, Redo log group 3 is the current group.

All members of redo log group 3 arelost before it is archived. Examine these possible steps:
*1. SHUTDOWN ABORT

* 2. STARTUP NOMOUNT

* 3. STARTUP MOUNT

* 4. ALTER DATABASE MOUNT

* 5. RESTORE DATABASE

* 6. RECOVER DATABASE NOREDO

* 7. RECOVER DATABASE UNTIL AVAILABLE

* 8. RESTORE ARCHIVELOG ALL

*9. ALTER DATABASE OPEN

*10. ALTER DATABASE OPEN RESETLOGS

Choose the minimum required steps in the correct order to recover the database.

NEW QUESTION 39
Which three are true about Automatic Workload Repository (AWR)? (Choose three.)

A. By default, AWR snapshots are taken every 60 minutes.

B. Its collection level is determined by the value of theSTATISTICS_LEVEL database parameter.
C. By default, AWR snapshots are retained for 7 days.

D. The taking of AWR snapshots can be disabled.

E. AWR data is stored in the SYSTEM tablespace.

Answer: ABD
NEW QUESTION 43
You must transport the UNIVERSITY tablespace from one database to another. The UNIVERSITY tablespace is currently open read/write.

The source and destination platforms have different endian formats. Examine this list of actions:
* 1.Make the UNIVERSITY tablespace read-only on the source system.
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* 2. Export the UNIVERSITY tablespace metadata using EXPDP.

* 3. Convert the UNIVERSITY tablespace data fies to the destination platform format using RMAN on the source system.

* 4. Copy the UNIVERSITY tablespace data files to the destination system.

* 5.Copy the Data Pump dump set to the destination system.

* 6. Convert the UNIVERSITY tablespace data files to thedestination platform format using RMAN on the destination system.
* 7. Import the UNIVERSITY tablespace metadata using IMPDP.

* 8. Make the UNIVERSITY tablespace read/write on the destination system.

Which is the minimum number of actions required, in the correct order, to transport the UNIVERSITY tablespace?
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Answer: B

NEW QUESTION 44
Which two are true about the Oracle dataabsemethodology? (Choose two.)

A. The Oracle Database time model should be used to find the database and instance areas most in need of tuning.
B. Tuning activities should stop once the user is satisfied with performance.

C. Tuning activities should stop onceagreed service levels for performance have been met.

D. The database instance memory should always be tuned before tuning any file systems.

E. SQL statements should always be tuned before tuning any file systems.

F. The alert log should be used to find the database and instance areas most in need of tuning.

Answer: CF

NEW QUESTION 48
Examine this configuration:

1. CDB1 is a container database running in ARCHIVELOG mode.

2. Controffiles of CDBE L are multiplexed in
‘/ulbl/app/oracle/oradata/CDBl/controlfile/controlfile0l.ctl” and
‘/ul2/app/oracle/fast recover area/cdbl/CDBl/controlfile(2.ctl’.

3. The only backup of CDB1 was taken when CONTROLFILE AUTOBACK was OFF

4 SNAPSHOT CONTEOLFILE NAME is
‘/uOl/app/eoracle/product/12.2.0.1/db 1/dbs/snapcf cdbl.f".

WhileCDBL1lis open,‘/u02/app/oracle/fast_recover_area/cdb1/CDB1/controlfile02.ctl'is accidentally deleted. To recover from this critical failure, you execute these

commands:

71

$ rman target sys/oracle 4U@localhost:1521/cdbl
EMAN> SHUTDOWN ABORT

Oracle instance shut down

EMAN> STARTUP NOMOUNT

EMAN RESTOEE CONTROLFILE FEOM

V/ull/app/oracle/oradata/CDBl/controlfile/controlfilell.ctl’;

What will be the outcome?

A. It will create ‘$ORACLE_HOME/dbs/cdb1/CDB1/controlfile02.ctl’

B. It will create ‘/u0l/app/oralce/oradata/CDB1/controlfile/controlfile02.ctl’.

C. It will re-create ‘/u02/app/oracle/fast_recover_area/cdb1/CDB1/controlfile02.ctl’

D. It will create ‘/u01/app/oracle/product/12.2.0.1/db_1/dbs/snapcf_cdblcontrol02.ctl'.
E. It will fail because there is no autobackup of the controlfiles.

Answer: C

NEW QUESTION 53
Which two are true about the Automatic Database Diasnostic Monitor (ADDM)? (Choose two.)

A. It analyzes a period of time corresponding to the 12 hours of activity.
B. It runs automatically after each AWR snapshot.

C. A DBA can run it manually.

D. Results are written to the alert log.

E. It analyzes a period of time corresponding to the last day of activity.

Answer: BC

NEW QUESTION 54
Examine this configuration:
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> CDBlis a container database.

> PDBlandPDB2arepluggable databases inCDBL1.
> PDBlandPDB2areOPENINREAD WRITEmode.
You execute these commands successfully:

5 export ORACLE SID=CDBI1

5 sglplus / as sysdba

SQL> ALTEER SESSICHN SET CCOHNTAINEE = PDBL;
Session altered.

SQL> SHUTDOWN IMMEDTATE

Which two are true? (Choose two.)

A. Uncommitted transactions in PDB1 have been rolled back.

B. PDBL1 is closed.

C. Uncommitted transactions in CDB1 and PDB1 have been rolled back.
D. CDBL1 is shut down.

E. CDB1 is in MOUNT state

Answer: AB

NEW QUESTION 57
Which three actions are performed by the Oracle Preinstallation RPM, oracle-database-server-xxxx- preinstall, for Oracle Grid Infrastructure, where xxxx is the
Oracle version and release? (Choose three.)

. performing checks to ensure minimum configuration requirements for Oracle Grid Infrastructure are met
. creating the oracle OS user

. creating the OSDBA (dba) group

. creating thte oralnventory (oinstall) group

. creating the grid OS user

. configuring the OS for Oracle Automatic Storage Management shared storage access

mTmoOw>»

Answer: BCD

NEW QUESTION 60
Which two are true about unplugging an application container from a container database and plugging it into a different container database?

A. It requires local undo mode in both container databases.

B. It requires only local undo mode in the database where the application container will be unplugged.

C. Plugging the application root into a different CDB plugs In all its application PDBs.

D. Application PDBs In the application container must beunplugged before the application root Is unplugged.

E. Unplugging the application root from a CDB unplugs all its application PDBs.

F. The application root of an application container should be plugged Into the other CDB before Its application PDBs are plugged in.

Answer: DE

NEW QUESTION 61
Which three are true about transporting databases across platforms usingRecovery Manager (RMAN) image copies? (Choose three.)

A. By default, the transported database will use Oracle Managed Files (OMF)

B. Data files can be converted on the destination system.

C. Data files can be converted on the source system.

D. A new DBIDis automatically created for the transported database.

E. Databases can be transported between systems with different endian formats.
F. The password file is automatically converted by RMAN.

Answer: BCE

Explanation:
Password file is automatically converted by RMAN.

NEW QUESTION 63

A database is configured in ARCHIVELOG mode.

A full RMAN backup exists but no control file backup to trace has been taken. A mediafailure has occurred. In which two scenarios is incomplete recovery
required? (Choose two.)

A. after losing a SYSAUX tablespace data file

B. after losing all members of an INACTIVE online redo log group
C. after losing all members of the CURRENT onlineredo log group
D. after losing all copies of the control file

E. after losing an UNDO tablespace that is in use

Answer: BD
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NEW QUESTION 66
Which two are true about Oracle instance recovery? (Choose three.)

. Recovery begins from the beginning of the CURRENT redo log group.

. Recovery begins from the last checkpoint position that wascalculated by the Database Writer before instance failure.

. Recovery begins from the start of any ACTIVE redo log group or the start of the CURRENT log group if no other group is ACTIVE.
. Recovery reads redo until the end of the redo threa

. SMON rollsback any dead transactions, and then the datanase is opened.

. Recovery begins from the last checkpoint position that was recorded in the control file by the checkpoint process (CKPT).

. Recovery reads redo until the end of the redo thread, and then opens the databas

. SMON then rolls back any dead transactions.

ITOTMMmMOoOO®>

Answer: BDF

NEW QUESTION 68
Which three are true about upgrading Oracle Grid Infrastructure? (Choose three.)

A. A direct upgrade can be performed only from the immediately preceding Oracle Grid Infrastructure version.

B. The newer version is installed in a separate Oracle Grid Infrastructure home on the same server as the existing version.
C. An existing Oracle base can be used.

D. The upgrade process will automatically install all mandatory patches for the current version of Oracle Grid Infrastructure.
E. Existing Oracle Database instances must be shut down before starting the upgrade.

F. Only the grid user can perform the upgrade.

Answer: DEF

NEW QUESTION 72
Which two are true about automatic block repair? (Choose two.)

A. Automatic block repair can repair blocks with no standby database if DB_BLOCK_CHECKING = TRUE.

B. Real-Time Query must be enabled on a physical standby database for automatic block repair to be done on that physical standby database.
C. Real-Time Query must be enabled on a primary database for automatic block repair to be done on any of its physical standby databases.
D. It is not possible for media corrupt blocks.

E. Real-Time Query must be enabled on a physical standby database for automatic block repair to be done on its primary database.

Answer: BC

NEW QUESTION 76
Which two are true about diagnosing Oracle Database failure situations using Data Recovery Advisor? (Choose two.)

A. Using the Data Recovery Advisor LIST FAILURE command always requires that the databasefor which failures are to be listed is in MOUNT state.
B. A failure can be closed only when it has been repaired.

C. Data Recovery Advisor can be used if a database is closed.

D. The Data Recovery Advisor CHANGE FAILURE command can be used only to changefailure priorities.

E. Data Recovery Advisor can proactively check for failures.

Answer: DE

NEW QUESTION 79
Which three are true about performing an Oracle Database install on Linux? (Choose three.)

A. The runfixup.sh script can install missing RPMs.

B. The Oracle Preinstallation RPM must be used to configure the Oracle database installation owner, the Oracle Inventory group, and an Oracle administrative
privileges group.

C. It allows you to select the languages supported by the Oracledatabase server.

D. It can be done before installing Grid Infrastructure for a Standalone Server.

E. The Oracle Preinstallation RPM can be used to configure the Oracle database installation owner, the Oracle Inventory group, and an Oracle administrative
privileges group.

F. It can be done after installing Grid Infrastructure for a Standalone Server.

G. The Oracle database administrator must be granted access to the root operating system account to tun root privileged scripts.

Answer: CEG

NEW QUESTION 80
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